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N & Ol & AF & Z A A
20008 =0lat =S AISSE A
S QI
& 200 Mol
20 210 ZaRAMA+Y
g 216 Ol Kt==& k|
A2 -5 Ofl &t b & & 0 At Y 5
=S Al 190,874 195,814 A4,940
o2 190,874 195,814 A4,940
200 AI2l+=gl 190,874 195,814 A4,940
210 o HMA+ 7,000 4,000 3,000
216 Ol Xh==¢ 7,000 4,000 3,000
216-01 SSU =0l A+ 7,000 4,000 3,000
O30l xt=+¢e 7,000
220 SAHM A= 183,874 191,814 AT,940
222 A0l= 170,000 175,140 25,140
222-01 =MA o= 170,000 175,140 A5,140
O=NALNHS 170,000
224 dY= 12,874 11,674 1,200
224-03 JIEte HE Y = 12,874 11,674 1,200
Oogers des 12,874
229 KNt =g 1,000 2,000 A 1,000
229-01 A48 === 1,000 2,000 A 1,000
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N = 0 &8 AF S & Al A
20009 = 20 & FXHEASSESA
SA 2
B DX 2
O FXUNEAMLSELIAH(FUHEAILSLZA) (&2 &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
al 2 I 190,874 195,814 A4 ,940
WEXMA =& 190,874 195,814 AN4,940
FAHMNSELESAH(FUHHALELSIA) 190,874 195,814 AN4,940
FXHE 22| 20,000 19,400 600
201 82 49H 20,000 19,400 600
01 AR 22|l 16,000 13,000 3,000
OYAFXHE itz 1,250,000& = 12& 15,000
Odt&a+=X& Xtg Aoz 200,000& * 504 1,000
02 32494l 4,000 6,400 A2,400
OFXEAE KXY 4,000
ol gl gl 170,874 176,414 AN5,540
801 0Oliglbl 170,874 176,414 A5,540
01 oldlbl 170,874 176,414 A5,540
Oolldl gl 170,874




